E.	What (pleas	INFORMATION are the major constraints aff e suggest how they can be in			of the VCT	facility?
	a)	Policy				
		******************************	,			************
	b)	Strategies				

	c)	Programmes				

	d)	Staffing				

	e)	Working condition	•••••••••••			***************
		***************************************		• • • • • • • • • • • • • • • • • • • •		· · · · · · · · · · · · · · · · · · ·
	f) :	Facilities, equipment and su				
	g)	Guldelines			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	· · · · · · · · · · · · · · · · · · ·

٠	h)	Reporting system	••••••	*********		
		,			,	
	i)	Budgeting provision				
		A contract of the contract of				

	j)	Resource mobilization				•••••
		***************************************				• • • • • • • • • • • • • • • • • • • •
	k)	Ministerial support				
		***************************************	• • • • • • • • • • • • • • • • • • • •			***************

2.		t are the main complaints from VCT users?	*****
3.	Wha	at is the attitude of VCT users?	
4.	Wha	at programmes are in place for:	
	a)	Awareness	
. *	b)	Counselling	
	c)	Testing	
5.		at is your view on the sensitivity of testing kits?	
6.	Pleas	se list other services that could be offered at the VCT?	. ,
7.	How	v could awareness of the VCT services be improved?	
POSITION NAME	ON O	NTERVIEWEE	

STUDY ON BLOOD TRANSFUSION SYSTEM IN KENYA LIST OF PARTICIPANTS AT THE STAKEHOLDERS DISSEMINATION WORKSHOP 31ST JANUARY 2002

and the second second	Name	Designation	Organisation	Address	Telephone	Fax	E-mail
1.	Eva Mwai	CEO	St. John Ambulance	P.O. Box 41469, Nairobi	224066/222396		
2.	Tom Nitta	Deputy Resident Representative	JICA Kenya Office	P.O. Box 50572, Nairobi	724121/4	724878	Nitta tamaki@iica.go.ib
3.	Langat Rachael	Laboratory Technologist I/C	MOH- Kericho District Hospital	P.O. Box 11, Kericho	0361-31171		
4.	Omondi Obiero	Medical Lab. Technologist I/C	Provincial General Hospital, Nyanza Kisumu	P.O. Box 849, Kisumu	035-44278		
5.	Dr. F. M. Kimani	PMO Eastern Province (DDMS)	Ministry of Health	P.O. Box 746, Embu	20081, 20883		
6.	Dr. Ambrose Misore	PMO, Nyanza	Ministry of Health	P.O. Box 72, Kisumu	035-40125	035- 40350	
7.	Moses Ambrose Karanja	ACMLT	Kenyatta National Hospital (BTU) Lab (Dept) MED	P.O. Box 20723, Nairobi	726300 ext. 43874/43318		
8.	Dr. I. Tanui	PMO – N.E.P	Ministry of Health	P.O. Box 40 Garissa	0131-2349		
9.	Nakriso Ochieng	Provincial Medical Lab Technologist	MOH, PMO's Office, Kisumu	P.O. Box 721	035-40225		
10.	Dr. }ackson W. Songa	PMO Western Province	Ministry of Health	P.O. Box 359, Kakamega	0331-20677	0331- 20873	pmowestern@net2000 ke.com
11.	Dr. Buziba Nathan	Consultant	Almaco	P.O. Box 4606, Eldoret	0733-787710, 0321-33461		mufits@ner2000ke.co
12.	Maurice K. Cheprot	Lab. Technologist	Ministry of Health	P.O. Box 359, Kakamega	0331-20677		
13.	Alex M. Mwenda	District Medical Lab Technologist	Meru District Hospital	P.O. Box 8 Meru	20373/20458	20372	
14.	Grace Githemo (Mrs)	CNO	Ministry of Health	P.O. Box 30016, Nairobi	717077		

15.	Mary Wanjiku Kariithi	Provincial Medical Laboratory Technologist	Ministry of Health	P.O. Box 20785, Nairobi	222080, 072- 777473		Karjanjinjarv@yahoo.co in
16.	James Mwalloh	Blood Safety Officer	NASCOP	P.O. Box 19361, Nairobi	729521/49		
17.	Dr. A. M. Ngindu	National Professional Officer	WHO	P.O. Box 45335, Nairobi	717902	719141	whokenya@whounion.n bo
1 8 .	Dr. A. Kahindi	DCC-HSRS	Ministry of Health	P.O. Box 30016, Nairobi	714737		
19.	Peter Wanjuu Mbugua	Lecturer	KMTC	P.O. Box 30195, Nairobi	725711		
20.	Josphat Wambua	Laboratory Manager	The Mater Hospital- Nairobi	P.O. Box 30325,Nairobi	534678	534678	
21.	Vitali M. Kangero	DHOD	KMTC	P.O. Box 30195, Nairobi	725711 Ext. 47123		
22.	Joseph M. N. Ole Kiu	Chief Provincial Officer	Ministry of Health	P.O. Box 30016, Nairobi	717077	722618	
23.	Dr. Jane Mwangi	Chairman, Department of Haematology & Blood Transfusion	University of Nairobi	P.O. Box 19676, Nairobi	721815		hwn. n. Bkenyaweb.c
24.	Fatuma Singir	Laboratory Technologist	M.P. Shah Hospital	P.O. Box 14497, Nairobi	742763		
25.	Joseph K. K. Macharia	Principal Technologist	Haematology and BTU University of Nairobi	P.O. Box 19676, Nairobi	726300 ext. 43874		
26.	Dr. Odera E. I.	Head of Department	Kenyatta National Hospital	P.O. Box 29881, Nairobi	0733-879826		
27.	Dr. jack Nyamongo	Head	NPHLS	P.O. Box 20750, Nairobi	725593	723569	headale (p@iconnect.
28.	Toru Shimoda	Assistant Resident Representative	JICA	P.O. Box 50572, Nairobi			
29	WillieNyambati	SPO	JICA	P.O. Box 50572,Nairobi	724121-4	718207	Willieurya nizati@jicake nxisaat
30.	Omari Mohammed	Project Manage, Blood Safety	Family Health International	P.O. Box 38835, Nairobi	713911-21	726130	ones as a linduorike
31.	Anastasia Kimeu	KMTC/JICA Project	KMTC	P.O. Box 30195	719862		18.11.11.11.11.11.11.11.11.11.11.11.11.1

		Coordinator		Nairobi	1		
32.	Dr. Solomon Mpoke	Coordinator, Infectious Diseases Programme	KEMRI	P.O. Box 54840, Nairobi	722541	715105	smpoke@hormall.com
33.	Dr. Jane Carter	KEMRI/JICA Project Head, Laboratory Services	AMREF	P.O. Box 30125, Nairobi	602493/602191	609121	amreiclinical@amreike.
34.	Sadiki Materu	Senior Laboratory Technologist	AMREF	P.O. Box 30125 Nairobi	604651-9	602191	amretclinical@amrefke.
35.	Abdullahi K. Gobanae	Health Management Information Officer	MOH/HMIS	P.O. Box 30016, Nairobi	717077 ext. 45166		abdukimogl@yahov.co
3 6 .	Teruaki Amano		KEMRI-JICA				
37.	Paul M. Kitenge	Senior Lab Technologist	NPHLS (NBTC)	P.O. Box 20350, Nairobi	723569	723569	
38.	Joseph W. Gachare	Chief Medical Laboratory Technologist	Ministry of Health	P.O. Box 60142, Nairobi	0733-762415	725624	
39.	Dr. Margaret Oduor	Director	Regional Blood Transfusion C. Kisumu MOH	P.O. Box 849, Kisumu	035-40166	035- 40166	
40.	Dr. E. S. Abunga	DMOH,	Ministry of Health, Kisii	P.O. Box 92 Kisii	21108		
41.	Dr. Khadija Sood Shilofy	Ag PMO	CPGH/Coast MOH	P.O. Box 90231, Mombasa	011- 225405/226006	011- 220161	chiefadmin@cogh.co.ke
42.	Harun Musoga	Senior Lab Technologist BTS	Kapsabet District Hospital – Med Lab TECHN	P.O. Box 5 Kapsabet	0326-2623 ext. 228		
43.	Jesai Ngereri Mwanyumba	Medical Lab. Technologist I/C	Coast Provincial Hospital	P.O. Box 90231, Mombasa	314204/5, 222148	220161	
44.	Dr. Samson O. Obure	Director (proposed)	Nakuru General Blood Bank	P.O. Box 71 Nauru	037-215580		sopure@africaoniine.co .ke
45.	Rashid Sheikh Osman	Provincial Medical Laboratory Technologist North Eastern	Ministry of Health (PMOs Office)	P.O. Box 40 Garissa	0131-2349, 3254		
46.	Steve Kimanzi	Blood Transfusion	Embu Provincial	P.O. Box 33,	0161-20055 ext.		

		Centre I/C	Hospital	Embu	3016 or 3101		
47.	Peter Nyarango	Consulant	P.H Consultant	P.O. Box 5062, Eldoret	0321-63894	0321- 31672	nyarango@net2000ke.
48.	David Wambugu Muriithi	Laboratory Technologist	PCEA Tumutumu Hospital	Private Bag- Karatina	0171-72026, 72033		-
49.	Dr. S. M. Kaniaru	Medical Officer	Consolata Hospital, Nyeri	P.O. Box 25 Nyeri	0171-31010/1		
50.	Dr. J. C. Kibosia	Msag/PMO RVP	Ministry of Health	P.O. Box 71 Nakuru	215580	40994	nakuru pah Wairicaonlin a.co.ka
	Obadiah M. Njuguna	Provincial Medical Lab. Technologist	PMO's Office, Rift Valley	P.O. Box 2060 Nakuru	037-41962	037- 216109	
52.	Andrew	Nyakio Maregwa	Provincial Med. Laboratory Technologist, Central Province	PMO Office (PGH Nyeri)	P.O. Box 110 Nyeri	0171- 31809	
53.	: Martin M. Njeru	Provincial Lab Technologist	Ministry of Health	P.O. Box 273, Embu	20883		
54.	Wallace Kariuki Wachira	Blood Donor Recruitment Coordinator- Nairobi	Kenya Red Cross Society	P.O. Box 47050, Nairobi	223549, 072- 306629	603589	Washirawallace@yahoo .com
55.	Dr. Olango Onudi	Provincial Medical Officer (Central)	Ministry of Health	P.O. Box 110, Nyeri	0171-30479		
56.	Dr. Stephen K. Kaubul	Senior Pharmaceutical	KEMSA	P.O. Box 47715, Nairobi	537670/3	540205	

Annex 5

LIST OF BTS FACILITIES								
Province	District	Government	Mission	Private				
Nairobi	Nairobi	 BTS Nairobi Mbagathi Hospital Pumwani 	1. Mater Misercodie Hospital	Nairobi Equator Nursing Home Masaba hospital Nairobi West				
		Maternity Hospital 4. Kenyatta National		Hospital 4. Metropolitan Hospital 5. Gerrude				
		Hospital		Childrens Hospital 6. MP Shah Hospital				
				7. Avenue Nursing Home 8. Guru Nanak Hospital 9. Nairobi Hospital				
Central	Kerugoya	5. Kerugoya . District Hospital	2. Mwea Mission Hospial	7. Nanobi Hospitai				
	Kiambu	 Tigoni District Hospital Kiambu District Hospital 	3. Kijabe Mission Hospital 4. PCEA Kikuyu 5. Nazareth	10. Limuru Nursing Home 11. Kikuyu Nursing Home				
	Muranga	8. Muranga District Hospital	Hospital 6. Kiriani Mission Hospital 7. Gaichanjiru Mission Hospital					
	Nyandarua	9. Nyahururu District Hospital	8. North Kinangop Catholic Hospital					
	Nyeri	10. Karatina Hospital 11. Nyeri P.G.H.	9. Consolata Hospital 10, P.C.E.A. Tumutumu	12. Jamii Hospital				
	Thika	12. Muriranjas Sub district Hospital 13. Thika District Hospital 14. Gatundu Sub- District Hospital	11. Mary Help of the Sick 12. St. Mulumba Hospital 13. Immaculate Heart of Mary Hospital					
Eastern	Embu	15. Embu PGH 16. Ishiara District Hospital						
	Isiolo	17. Isiolo District Hospital						

[Kitui	18. Kitul District	14. Muthale	
		Hospital	Mission	
			Hospital	
	Machakos	19. Kangundo	15. Kikoko Cottage	13. Shallom Nursing
	T Meridicos	District	Mission	Home
		Hospital	Hospital	14. Machakos Health
		20. Kathiani	16. Bethany	Care C,
		Hospital	Hospital	Cale C.
		21. Machakos	riospitat	
		General	ţ	
	ļ	Hospital	i i	
	Makueni	22. Makindu Sub		
	Plakuem	district H		į
·		23. Makueni		
	Marsabit	24. Marsabit Distrit		
-,		Hospital		
	Meru Central	25. Meru District	17. St. Anne	15. Milimani Nursing
		Hospital	Maternity	& Maternity
		26. Maua	1	
		Methodist		
		27. PCEA Chogoria		
	Moyale	28. Moyale District		
		Hospital		
	Mwingi	29. Mwingi District		
		Hospital		
	Nyambane	30. Nyambane	18. Tigania	**************************************
		District	Hospital Kianja	
		Hospital	i rospital radija	
	Tharaka Nithi	31. Chuka District	19. Consolata	
	, marka , mark	Hospital	Chuka	
	:	Hospital	20. Kyeni Hospital	
North	Garissa	32. Garissa PGH	Zo. Rychi Hospital	
Eastern	Garissa	JZ. Galissa i Gil	i	
rastetti	Mandera	33. Mandera		
	Mandera	1		
		District		
		Hospital		دور براد و درد و درد و درد و درد و درد و دود و درد و دود و درد و د
	Wajir	34. Wajir District		
Coast	Kilifi	35. Kilifi District	;	
	1	Hospital		
	,	36. St. Lukes	•	
		Kaloleni		
	Kwale	37. Kwale Hospital		
		38. Kinango		
		Hospital		
		39. Msambweni		•
	Lamu	40. Lamu District		
•		Hospital		
	Malindi	41. Malindi District		
	1	Hospital		
	Mombasa	42. Coast P.G.H		16. Agha Khan
	1 Johnbasa	43. Port Reitz		17. Mombasa
		13.1 OIL REILL		Hospital
	,			
L			<u>.</u>	18. Pandya

			رو بين وسيدست دمان شاه دمان الاستان الاستان و سيد يد و سيديد دمان در در در	19. Galana Hospital
	Talta Taveta	44. Voi Hospital 45. Taveta Hospital		
	Tana River	46. Hola Hospital 47. Ngao Sub district Hospital		
Rift Valley	Baringo	48. Baringo District Hospital		
	Bomet	49. Longisa Hospital	21. Tenwek Hospital	
	Buret	50. Kapkatet Hospital	22. Kaplong Hospital	
	Kajiado	51. Loitoktok Hospital 52. Kajiado District Hospital		20. Magadi Hospital
	Keiyo	53. Iten District Hospital 54. Tambach Sub District Hospital		
	Kericho	55. Kericho District Hospital		21, Central Hospital- AHP
		56. Londiani Sub District Hospital		22. Kericho Nursing Home 23. Chemugundai
				Hospital 24. St. Lenard's Hospital
	Koibatek	57. Eldama Ravine Hospital	23. Mercy Mission Hospital	
,	Laikipia	58. Nanyuki District Hospital 59. Olkalau District Hospital		
	Marakwet		24. Kapsowar Mission Hospital	
	Nakuru	60. Naivasha District Hospita; 61. Molo Hospital 62. Nakuru PGH		25. Valley Hospital 26. Egerton 27. Menengai Nursing Home 28. Fine Breeze
	Nandi	63. Kapsabet District Hospital 64. Nandi Hills Sub District Hospital		
en e	Narok	65. Narok District Hospital		
	Samburu	66. Maralal District		

		Hospital .		
	Trans Nzoia	67. Kitale District Hospital	!	29. Kitale Nursing Home
	Transmara	68. Lolgorian Sub District Hospital 69. Transmara District Hospital	25. St. Joseph Mission Kilgoris	
	Turkana	70. Lodwar District Hospital		
	Uasin Gishu	71. Mol Hospital	26. Plateau Mission Hospital	30. Eldoret Nursing Home 31. Elgon Hospital
	West Pokot	72. Kapenguria District Hospital	27. Ortum Mission Hospital	31. Eigon Hospital
Nyanza				
	Gucha	73. Ogembo District Hospital	28. Tabaka Mission Hospital 29. Akemo Maternity/Nur sing Home	
	Homa Bay	74. Homabay District Hospital	30. St. Paul's Catholic H/C	32. Lady Margaret Hospital
	Kisii	75. Kisii District Hospital		33. Christa Marianne Hospital 34. Bosongo Medical Centre
				35. Getembe Private Hospital 36. Hema Hospital 37. Keroka Maternity/Nursin g Home
	Kisumu	76. Kisumu District Hospital 77. PGH Kisumu 78. BTS Kisumu	31. Maseno Hospital	38. Whitestone Hospital 39. Boya Rural Maternity 40. Jalaram Nursing
				Home 41. Agha Khan 42. Nightgales Nursing Home
	12	70 1/ 1		43. Koru Nursing Home
	Kuria	79. Kehancha District Hospital		
	Migori	80. Migori District Hospital	32. St. Joseph Maternity	44. Buffalo Nursing Home

	[Hospital	45. Pastor Machage
				Nursing Home
				46. Lake Side
•				Nursing Home
				47. Oruba Nursing
			. •	Home
	Nyamira	81. Nyamira		48. Nyamira
		District		Maternity/Nursin
		Hospital		g Home
				49. Fairview
		1		Maternity/Nursin
				g Home
	Nyando		33. St. J.	
•			Nyabondo	
	Rachuonyo	82. Rachuonyo	34. Kendu Mission	50. Masogo Nursing
		District	Hospital	Home
		Hospital	•	51. Matata Nursing
				Home
	Siaya	83. Slaya District		
		Hospital		
		84. Yala Sub		
		· District	•	
		Hospital		
Western	Bungoma	85. Bungoma	35. Lugulu Friends	52. Kimilili Medical
v v		District	Hospial	Centre
		Hospital	36. Msikhu C.	53. Lumboka
		86. Webuye Sub	Mission	Hospital
		District	Hospital	54. Webuye Nursing
	1	Hospital		Home
	Busia	87. Alupe Sub	37. Holy Family	55. New Busia
		District	Nangina	Nursing Home
		Hospital	Hospital	56. Nambale Nursing
		88. Busia District	·	Home
		Hospital		
	Butere/Mumias	89. Butere Mumias	38. Mwihila	
		Hospital	Mission	
		90. St. Mary	Hospital	
		Hospital	•	
		Mumias		
	Kakamega	91. PGH Kakamega	39. St. Elizabeth	57. Maraba
	1		Mukumu	Pharmacy Clinic
				58. Glory Nursing
	İ			Home
	İ		•	59. Lady Tharau
•				Nursing Home
				60. Highway Nursing
				Home
	Mt. Elgon	92. Kapsokwony		2 222
	""	District		
		Hospital		
	Vihiga	93. MRHTC	40. Friends	
	1 1115	(Vihiga)	Kaimosi	
	1	(· · · · · · · · · · · · · · · · · · ·	Hospital	'
	1	<u> </u>	riospital	

Annex 6

SUPPLY OF LABORATORY ITEMS FOR BTS, 2000-2001 FY

TITEM DESCRIBTION	L UNIT OF	UNIT	QUANTITY	VALUE OF
The Francisco	ISSUE	PRICE	ORDERED	ODERED
	13341.	I	ORDERED	QUANTITY
4-Dimethyle-Amino Benzaldehyde - As per specs.	Bottle	1,332.15	100	1,332,214.64
7HG middle brooke broth	Boule	17,317.90	5	86,589.52
Measuring cylinders, graduation with spout-100mlsx1,0ml	No	249.35	400	99,740.19
Measuring cylinders, graduation with spout-500mlsx5.0ml	No	666.07	400	266,429,28
Measuring cylinders, graduation with spout-1000misx10ml	No	1,041.81	400	416,722.72
Heparinized capillary tubes-red	Packet	88.81	100	8,880.98
Haemocytometer coverslips	Packet	186.16	400	74,463.57
Glass staining jars with moulded grooves	Packet	385.98	35	13,509.33
Plain capillery tubes As per specs	Packet	88.81	100	8,880.98
Pipettes with permanent amber marking capacity 1.0 x0.01ml	No	70.02	500	
Chloroform AR (Bott.x2L)	· · · · · · · · · · · · · · · · · · ·		60	35,011.54
Filter paper 1 50mm diameter	Bottle	1,844.51		110,670.62
	Вох	- 362,07	50	18,103.53
Filter paper ashless 90mm diameter	Box	611.42	26	15,896.95
Filter paper 240mm diameter	Box	853.94	40	34,157.60
Filter paper ashless 185mm diameter	Вох	618.25	25	15,456.31
Sodiumthiosulphate (AR) -As per specs	Bottle	512.36	2	1,024.73
Hydrogen peroxide- as per specs	Bottle	444.05	20	8,880.98
Parafilm rolls -as per specs	No	7,309.73	20	146,194.53
Sulphanilic acid AR	Bottle	1,280.91	100	128,091.00
Alpha-ketoglutaric acid	Bottle	700.23	100	70,023.08
Benzene AR Bottlex 25g	Bottle	1,987.97	100	198,797.23
Methylathed blue	Bottle	211.78	50	10,588.86
Osminium tetroxide	Ampoule	1,123.79	100	112,378.50
Glusaraldeliydo, GPR	Bottle	1,297.99	50	64,899.44
Formic acid, GPR (98-100%)	Boule	1,567.83	20	31,356.68
Cedarwood oil, for microscopy	Bottle	447.46	100	44,746.46
Toulene, rectified GPR	Bottle	1,3(11:65	100	131,165.18
Methyle benzoate GPR	** Bottle	406.48	20	8,129.51
Sodium succinateGPR	Bottle	2,216.83	50	110,841.41
Tween 80(Bott.x50ml)	Bottle	1,492.69	20	29,853.74
Carbon tetrachloride, GPR	Bottle	4,536.13	10	45,361.29
Anline oil, GPR	Bottle	891.51	10	8,915.13
Gelatine powder	Bottle	761.71	50	38,085.72
Potassium permanganate, GPR	Bottle	765.13	50	38,256.51
Periodic acid, GPR	Bottle	1,084.50	50	54,225.19
Bijou Bottles-as per specs	Nos.	27.46	20,000	549,130.40
Wooden applicator sticks 50 per pack	Packets	235.34	2,000	470,683.20
Blood grouping antiserumA (AntiA) (vial x 10mt)	Vist	132.19	2,000	264,384.24
Blood grouping antiserum (AntiA) (vial x 10ml)	Vial	132.19	2,000	264,384.24
Blood grouping antiserumD (AntiD) (vial x 10ml)	Vial	234.64	500	117,320.51
Bovine albumin 30% (vial x10ml)	Vial	229.13	100	22,913.30
Blood taking sets-single blood bag with CPDA- as per specs	Set	108.26	100,000	10,825,713.60
Flask flatbottomed borosilicate 250mls	No.	205.89	200	41,177.85
Flask flatbottomed borosilicate 500nils	No.	269.12	200	53,824.22
Flask flatbottomed borosilicate 2000mls	No.	788.09	200	157,617.07
Flask flatbottomed borosilicate 5000mls	No.	3,108.72	200	621,743.60
Pipettes grasdulated with permanent amber marking capacity	No.	248.3	500	124,150.43
2.0x0.02ml	i ivo.	270.3	300	127,130.13
	Bottles	333	20	6,660.00
Methylathed spirit Blood taking sets-double blood bags with CPDA- as per specs			20 70,000	
Total Allocation for BT	Sec	257.46	70,000	18,022,459.73
TOTAL MIOCALIOIT TOLD I	· 	·	<u></u>	

Annex 7

CLIDDLY OF LABORATORY ISSEMS SOR PTC 2001 2002 SA			Zinc	
SUPPLY OF LABORATORY ITEMS FOR BTS, 2001-2002 FY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	NET
THE PERCENT HOLY	OF	REQUIRED	N.P.H.L.S.	TOTAL
·	ISSUE	KEGGIKED	DELIVERED	PRICE
GLASSWARE	1 133(11	1	DELIVERED	LIMEL
Universal (Glass-bottle) containers with metal screw caps (28mls), moist heat,	Nos.	30,000	Ţ]
sterilizable with autoclavable rubber lining.	1103.	30,000		
Centrifuge tubes conical glass with capacity 15mls graduated 0 to 0.1ml and 3	Nos.	8,000		
x 0.5mls, overall dimension 110x17mm internal diameter 15mm	1403.	0,000	1	
Measuring cylinders, graduation with spout – 100mls x1.0ml	Nos	400	 	
Measuring cylinders, graduation with spout – 500mls x 5.0ml	Nos.	400		
Measuring cylinders, graduation with spout - 1000mls x 10ml	Nos.	400		
Bijou bottles 5mls capacity, metal screw caps, black rubber washer	Nos.	20,000		
autoclavable	1403.	20,000		
Wooden applicator sticks (500per packet)	Packet	2,000		·
Test tubes borosilicate glass without rim. Size 75x10mm(packetx100pcs)	Gross	200	 	
Test-tubes borosilicate glass without rim. Size 75x10mm(packetx100pcs)	Gross	200		
	Packet	200		
Pasteur pipette (packet x 250pcs)		·····		
Plain capillary tubes - blue (Packet x 100 tubes)	Packet	100		
Fl. 1.0 - L	NI-	1 200		
Flask flat bottomed borosilicate 150mls	No.	200		
Flask flat bottomed borosilicate 250mls	No.	200		
Flask flat bottomed borosilicate 500mls	No.	200		
Flask flat bottomed borosilicate 2000mls	No.	200		
Flask flat bottomed borosilicate 5000mls	No.	200		
Pipettes Graduated with permanent amber marking capacity 2.0 x 0.02ml	No.	500		
Pipettes Graduated with permanent amber marking capacity 1.0 x 0.01ml	No.	500	,,,	
Beakers heat resistant 100mls	No.	500		
LOT 4a CHEMICALS	,			
Filter paper 150mm diameter (box of 100 circles)	Box	50	_	
Filter paper ashless 90mm diameter (box of 100 circles)	Вох	25		
Filter paper 240mm diameter (Box of 100 circles)	Вох	40		
Filter paper 185mm diameter (Box of 100 circles)	Вох	25		
Paraffin rolls (size 4" x 250ft)	No.	20	f	
LOT 4b CHEMICALS	ļ		· · · · · · · · · · · · · · · · · · ·	
Menthylated spirit (bottle x 5L)	Bottles	20		
Jik (bottle x 1L)	Bottles	200		
Lysol (B.P.) (Bottle x 1L)	Bottles	20		
Pasteur pipettes, glass disposable total length 130mm, tip length 130mm	No.	5,000	ļi	
(pack x 250pcs)	140.	3,000		
BLOOD GROUPING ANTISERA	i			L
Blood grouping antiserum A (Anti A) (Vial x 10ml)	Vial	3.000	1	·
Blood grouping antiserum B (Anti B) (Vial x 10ml)	Vial	3,000		·
	Vial	500		
Blood grouping antiserum D (Anti D) Blend (Vial x 10ml) Boyine albumin 30% (vial x 10ml)	Vial	500	 	i
	*	500		
Anti-human Globulin – AHG – (Coombs reagent broad spectrum (vial x	Vial	300	ļ	l i
10ml)	I	<u> </u>	<u> </u>	L
BLOOD TAKING SETS Plead religing sets - dipple blood has with CRDA - 1 antiscognilant solution.	Pieces	140,000	1	!
Blood taking sets – single blood bag with CPDA – 1 anticoagulant solution.	Liecez	1 70,000	1	
Capacity 450-500ml with needle G16	Diness	30,000		
Transfer bag, 150ml sterile, non-toxic, non-pyrogenic, water proof label	Pieces	30,000		} <u>:</u>
PIPETTES				
Single channel pipettes 0.5-10ul				
Non-wettable Universal Single Pipette tips 5-300ul (Packet x 100)	Packet	4,000		ļ
Non-wettable Universal Single Pipette tips 100-1000ul (Packet x 1000)	Packet	1,000		<u></u>

LIST OF VOLUNTARY COUNSELLING AND TESTING CENTERS- FIELD FINDINGS

	Province/Region	Facility Administration	Name of Facility
1.	Nairobi	Government	1. Kenyatta National Hospital
' '	TVati ODI	Government	Meagathi District Hospital
		· }	3. Pumwani Maternity Hospital

2.	,	Private	Mater Misercodie Hospital
			2. Masaba Hospital
			3. Getrudes Children
		1	4. Nairobi West Hospital
			5. Metropolitan Hospital
			6. Avenue Nursing Home
1			7. Nairobi Hospital
			8. Guru Nanak
3.	Central	Government	1. Karatina District Hospital
			2. Gatundu Sub-district hospital
		-	3. Kimabu District Hospital
4.		Mission	1. Consolata Hospital
			2. Gachanjiru
		:	3. St. Mulumba M
	•		4. North Kinangop
5.	Eastern	Government	1. Meru District Hospital
٠,	Lustern	Covernment	2. Nyambene District Hospital
			3. Ishialla District Hospital
		5 1	4. Machakos District Hospital
			5. Kangundo District Hospital
			Kangundo District Hospital Makindu Sub district Hospital
	•		
			7. Chuka District Hospital
	· ·		8. Embu Provincial General Hospital
6.		Mission	1. Bishop Kioko
			2. Maua Methodist
			3. Kyeni Mission Hospital
7.		Private	1. St Anna
			2. Machakos Health Centre
8.	Coast	Government	1. Coast Centra
			2. Malindi District Hospital
!			3. Kilifi District Hospital
	•		4. Hola District Hospital
:			5. Lamu District Hospital
9.	4 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Private	1. Mombasa Hospital
2	Rift Valley	Government	1. Baringo District Hospital
	,		2. Iten District Hospital
		÷	3. Moi Teaching Referral
1		}	4. Kapsabet District Hospital
			5. Kitale District Hospital
			6. Naivasha District Hospital
			7. Molo District Hospital
			8. Of Kofao District Hospital

			9. Nanyuki District Hospital
3		Mission	1. Mercy Mission
			2. Tenwek Hospital
4		Private	1. Nakuru Youth
			2. Chemugundai
			3. Magado Hospital
5	Nyanza	Government	1. Kisumu District
			2. PGH New Nyanza
			3. Rachuonyo District
			4. Siaya District
			5. Yala Sub district
-			6. HomaBay District Hospital
			7. Kehancha District Hospital
			8. Nyamira District Hospital
			9. Ogembo District Hospital
6		Mission	1. St Josephs N.
			2. St Paul Catholic
7		Private	1. Whitestone Hospital
8	Western	Government	Kamamega Provincial General Hospital
			2. Busia District Hospital
-			3. Alupe Sub district Hospital
			4. Bungoma Hospital
			5. Mt. Elgon Hospital
9		Mission	1. St. Elizabeth
			2. Holy Family
			3. Misikhu Mission Hospital
1		Private	1. Lumboka Memo

LIST OF REGISTERED VCTSs AS AT 31.10.2001

Province	District	Site	Site Type
Natrobi	101- Nairobi	Kenyatta National Hospital VCT	Stand alone
		Centre	
		Pumwani Maternity Hospital	Integrated
		Riruta H/C	Integrated
		Kicoshep Clinic	Integrated
,		Kicoshep Youth Centre	Stand alone
		Kicoshep Kianda	Stand alone
		Kicoshep Mugumo-ini	Stand alone
		Kicoshep Ngong Road	Stand alone
		Baba Dogo	Stand alone
		St. Teresa	Stand alone
· · ·		Sokoni Arcade	Stand alone
Central	201- Klambu	PCEA Kikuyu	Integrated
·	206- Thika	Thika District Hospital	Integrated
		Gatundu Sub District Hospital	Integrated
		Gatura H/C	Integrated
		Ngenda H/C	Integrated
		Juja Farm Dispensary	Integrated
		Ngorogo H/C	Integrated
		Igegania H/C	Integrated
		Munyu H/C	Integrated
		Ruiru H/C	Integrated
		Ngoliba H/C	Integrated
		Kirwara H/C	Integrated
Coast	301-Kilifi	Kilifi District Hospital	Integrated
		Vipingo H/C	Integrated
		Mariakani H/C	Integrated
		Rabai H/C	Integrated
		Bamba H/C	Integrated
	304- Mombasa	Coast PGH	Integrated
· · · · · · · · · · · · · · · · · · ·		Magongo Clinic	Integrated
		Mvita Clinic	Integrated
		Ganjoni clinic	Integrated
		Kisauni Clinic	Integrated
		Tudor Clinic	Integrated
		Likoni Clinic	Integrated
		Mkomani Society Clinic	Integrated
		Youth Counselling Centre- FPAK	Stand alone
	307- Malindi	. Julia County ming Centre 117th	State done
<u>·</u>	307	Malindi District Hospital	Integrated
		Malindi Clinic	Stand alone
		Gede Dispensary	Integrated
Eastern	403- Kitui	Kitui District Höspital	·
Edytei II	409- Meru North	Maua Methodist Hospital	Integrated integrated
Nyanza	602-Kisumu	CDC Clinic (NNPGH)	Integrated
	. (18.17.18.18.18.18.1		

		Pand Pierl Catholic Clinic	Integrated
	611-Bondo	AIC Asembo Bay	Stand alone
South Rift	702-Kerlcho	Kericho District Hospital	Integrated
	705-Narok	Pillar of Hope	Stand alone
North Rift	807-Trans Nzola	Kitale District Hospital	Integrated
Western	902-Busia	Busia District Hospital	Integrated
		Holy Rosary Nangina Mission Hospital	Integrated
. 46. 17. 19. 19. 19. 19. 19. 19. 19. 19. 19. 19	903-Kakamega	Kakamega PGH	Integrated
		Kakamega Municipality	Stand alone
		Vihiga District Hospital	Integrated
		St. Mary's Hospital (Mumias)	Integrated

Source: NASCOP

Walter Color